How to balance subtraction equations up to 3-digits

Balance each equation in the problems below.

1. 935-119=904-_88

Firstly, let’s solve the left hand side of the equation.

935
1119 |
816

ge=904+2 | | | | | | | | [ [ | | 5] VOO -98= 611
Now, add ? to both sides of the equation. |
816+2?2=904-?2+7? IS N (S [ S SN S N | _
gl6+?=904 | | | | | | | | | [ | 6. -8=030-12 |
Then, to find ?, subtract 816 from
both sides of the equation. |

816 +?-816=904 -816 | | | | | 17! y78 -| | |=59]-123
- 81e | [ { [ L [ 1 |1 1 | | 1 (8. | | | -420 =89]- 852
88

So, the balance equationis 935 - 119 = 904 - 88 | N S - ,
9. 218-89 =83]-

2, 514-19 =605 -
10. 836 -298= =52

3, 638-__ . =192-36

1. 172] - =745 - 623

4. 550-362= - 513
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How to balance subtraction equations up to 3-digits

Balance each equation in the problems below. |

1. 935-119=004-_88

Firstly, let’s solve the left hand side of the equation. |
935 (| I A } | “E:Ziif
S 110 O D ) A O s O | N -
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gle=9p4:2 | | | | [ | | [ | | | 5. 700-98=611-_9
Now, add ? to both sides of the equation. |
Be+?2=90442+? | | | | | | | | | — 1 |
816 +?2=904 | Il | (I 1 I | | 6. 1926 -8 =930 —!'12_
Then, to find ?, subtract 816/ from
both sides of the equation. /Y N N I ) I - | |
g6 +?-816=904 -86 | | | | | | | 7. 778 -310=591-123
= S = 1 | I 9 M| L) N IS Y (S ) ) ) | ' 8. 468 -429 =!8.9.'I— 852
88

So, the balance equation/is 935 - 119 =904 - 88 |

o |

218 -89 = 8’|3_'I— 702

boood S04 L Lld Ll Lofl ) |
| 21 514 -19 = 605 - 10 S (O |
'10. 836 -298 =547 -9
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